
Решить уравнение     3(cos 2 5cos 4) ln( ) 0x x tgx      

Решение: 

(1) 3(cos 2 5cos 4) ln( ) 0x x tgx      

Составим внутренние требования по минимуму или по максимуму.  

Выберем ‐ по максимуму. 

       

3(cos 2 5cos 4) ln( ) 0

0

cos 0

x x tgx

tgx

x

    
 
 

   

3(cos 2 5cos 4) ln( ) 0

0

cos 0 ( )

x x tgx

tgx

x следстие второго соотношения

    
 
 

   



cos 2 5cos 4 0

0

ln( ) 0

0

x x

tgx

tgx

tgx

   
 
   

                       

22cos 5cos 3 0

0

1

0

x x

tgx

tgx

tgx

   



   

                                                            



cos 1

cos 1,5 ( )

0

1

0

x

x x

tgx

tgx

tgx

 
  
 
  
 

                           

cos 1 ( sin 0 0)

0

1

x x tgx x

tgx

tgx

      
 
  

             

    1tgx   
4

x n
    , где  n Z  

 

Ответ:  
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